SISENES Astrological Signs
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April 30

July 2

August 3

November 7

Rastddayi CHl \Sayks

December 9

Aquarius
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Libra

Pisces

Scorpio
Alfa Romeo Last Day Of Work  First Names Astrological Signs
Aston Martin April 30
July 2
Honda
August 3
Packard November 7
Suzuki December 9

. The driver of the Suzuki is not Elias.
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. The employee whose last day will be November 7 is not Brooklyn.
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. The employee whose last day will be December 9 is Douglas.
4. The driver of the Honda is Douglas.

5. The Pisces is Declan.

6. The Aquarius doesn't drive the Aston Martin.

7. The Libra drives the Packard.

8. The Sagittarius will leave after the Aquarius.

9. The 5 people were the Sagittarius, the employee whose last day will be July 2, Elias, the driver of the Honda, and
the Libra.

10. The driver of the Aston Martin is not Declan.
11. The driver of the Packard is not Brooklyn.
12. The driver of the Alfa Romeo will leave before the driver of the Suzuki.

13. The Sagittarius will leave before the driver of the Honda.



